B2022fEE = LR —RERBEE L ()

1.

WELS A={x|r"-1>0, B={x|log,z=0}, M4nz= ( )

A. x[z>1 B. {x[x>0} C. {z|x<-T D. {x[x<-hzx>}

2.

=z R
a%um‘“s, MEHK-- ¢ DA -1+% B. 1-% C. -1-% D., 103

3.

-1=x=1

WMLk y=x"+1 R ELKy =2 FrE R A BB AR A, K%iﬁéﬂ{o Sy =2 FrifE XN 2
1 1 1

1
Xz AR — 5, ZRREFEXRoMBEN ¢ DA 5 \B) 4 C. 3 D. 2

4.

ERENAE r RINIES S/ NGED, MEE <X <T=(O\A. 01359 B. 03413 C. 04472 D. 1

5.

CA R B F () = (* + 208338+ Tx + B2 435 Wi (x+ B, RO S BCH27, M= ()

A. 27 B. 21 Cx/3 D. 3

6.

AR PR BUEE A B R R IE R R (WD) SHENKAEFRFEy (MR

WO TH LA MR, MRIERIRMAREIE, KRBy R T REE A FEy=072+035, 4
R BEN? C )

A. 4 B. 3.5 C. 3 D. 4.5
y 2.5 ] i i 8 ﬁ

AR 2" - Cex 27+ O 2 e (=DM 2= () AL 1 B. (U C. 141" D. 1-(-1"

8.

ERIfEadBC Y, £ACB=90", BC=3, AC=4, PR 4r LRI, W p 3 AC,BC HFEE KRR &
KIER C DA. 3 B.2 C. 2 D.9



